BARRATIC R

TAREAFR: TR BT T 2 R R AR R 1T 1T
5 BIR FHH 285 A
1 100 TER OB 100 3 S
2 200 JEE 95200 2RI
3 300 TEE 5300 B BRI
4 400 T 5400 M. R
5 600 JHE 55600 B 22 iR S A AL
6 700 T 700 BSR4k IR AR
7 %5 100 B2 700 FEH T
8 OB AR, TREEE. LI TREMN &t
9 HERATHEZEM R, THEES. DI RGN &
10 HHITE
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TREERER

THREAFR: g BT 7B 2 R thifEm] M 8 e Il H 1o e
O 1005 M
THS +H AR LR \v2 HiE Ay i
101-1 LRI 7
FE—1 5
754 = Eod =2 +H —
AT
102-3 E7qe ota Yk SEIT 1. 000!
103-1 G E B . =9 SRR
(4 [ B i T2 40 28 )
-a I3 ] s 25 A 8
-b A A 18
- HRINAT A 1
-d it T8 & m 30. 000!
104-1 R N 1 SEIT 1. 000!

100 = &1 AR 0.00 JT
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TREERER

TAEAFR: T rg BT T 2 RS il AT A v T H 2T Hem
JEE 95200 BRI
THS T HA®K FLAL K LERiy “ih
203-1 B2 T
-a oyl m3 21. 000,
204-1 i B (R0 HE IR R S2)
b I+
~b-1 AR m3 6. 200
-b-2 it iz ) H m3 13. 800
—e i LIy m3 2732. 800
g SR 6 15 Rl 4A m3 312. 000
-h ipam ik =y iy m3 78. 000
-i tpat 3 m3 273. 000,
208-4 TR
-a C25 JRHE LA m3 119. 100

200 %= &1 ARM 0.00 JT
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TREERER

TREZHR: TR BT T B R i B H 3T 6 m
RS 300 T OBKTH
THYS THAK L o i air
302-2  [ERIRE
= 5 200mm m2 1640. 000
313-1 LA m2 1000. 000

300 % &1 AR 0.00 JT
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TREERER

THREAHR: I BT T 2 RN i R T #4090 6
TEH R 400 FOMFR. R

THS T H & HpL K By ai
403-2 RS RN

-a 6 59 77 (HPB235. HPB300) kg 374. 400

-b 15 AN 75 (HRB355.  HRB400) kg 787. 830
403-3 - R RN 7

-a 6 59 757 (HPB235. HPB300) kg 1658. 200,

-b 5 AR 75 (HRB355.  HRB400) kg 4887. 370
403-4 P o 5 A 0

-b TR % (HRB355 HRB400) kg 586. 880

- k) kg 1778. 380
404-1 RR LSl wyi) m3 618. 000
410-1 TR A (BRSO T

R G AHA L EE L)

-a €30 m3 128. 990

-b C25 F AR e+ S m3 91. 520

-c C25 JrAiEE+ m3 24. 090
410-2 MECRE 3 Sl N e 14

-a €30 m3 59. 050

-b C25 JfikdE L m3 74. 000
410-4 T il e AE R (C40) m3 27. 120
410-5 b B A K IR AR AL TR et m3 2. 090
410-6 TSt L & 2 A m3 2. 720
415-2 UK e TR B AT T4 2 (C40) m3 6. 000
418-1 WE R m2 5. 000
418-2 K m 2. 600
418-3 2cm Vi B B S pE m2 15. 200
418-4 RS S m3 60. 000!
419-1 AR SR R (1- & 2. 0m) m 8. 500

2400 = &1 AT 0.00 JT
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TREERER

THREAFR: T BT 7B 2 A il e M 8 e 1 H 50 ke
TEH B 600 B A M A 2
THYS FHZFR <R (v B Ay i
602-2 VTR 4 m 90. 000!
604-1 PR AT A bR He 2
604-2 (EsYapiaid He 1

600 = &1 AR 0.00 JT
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TREERER

TRERR: TR BAR T T B 2 A R M g R 56 01 3L 6 1T
T 700 B LAk KIRIE AR
FHS F H & pT Ha LERy Xy
703-1 R m2 100. 500

700 = A1 AR 0.00 JT

(357 4 2013 A BRSNS EAR V10. 4. 7]




THHIICER

TR TR U R T i 15T 1T 31T
R S ik

e

bk

6 AL
it

(357 4 2013 A BRSNS EAR V10. 4. 7]




THHILH S HEMR

TR TR U R T i 15T 1T 31T
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